ANNIVERSARY

BRERMINIINEREERHEMBNEINIER TER
EH1  (Shiu Yuan Electrical industry) - EEREBRRESE
TEEREMESE > DFERIEVHR—RREAESKEEE
E-FIAREERIRSICBUTXZAREATINEEE
e BRI HERERRSEEFEERETES « HETHEBE
FEIHBRHERER > ARZIERARERIEHRTAEEFTRER
AREKREE  AEFAFREREE2EERPRERCEE -

NEIBEIBISO9001 M EVISCNS ~ UL ~ CCCRIE3BEXEREE
EmTHEZHA - BAIARUREFTESHELEES AR ~ HEX
MESNIHIBREEZEEEEEEBRIRERNTES - BRFEF
EERME PN ERTEMKIL [REENERK k TINIESER
FEMEFESEBRE_+8EG o

BRIXEEERAE - ZHRESRZE > THEH200WE3TKW -
246 8MBRFFHZMBINENR » 50/60HZKBIEEME - I
RIS B PRERFETFAER L RESH -

NEREBRAATF - TERTERITREIRERHRER » 1
BE—RERIBFEKETBBTREP, » R#—RBZIFHNE
BM—ESEEMNKE - EMe TENERSH > h@T%
B EENSHEMY - RFERKRVE IR EEHEERER
ARIZES ~ SR ~ RS EMBEN FERAN A EES
g E R EEESIEREREREEXER S o

S| SN E ER B

Trustworthy Collaborate Newimage Growth




SEEHOEEREREE

H R

Bl6P| —|14)2/2] 1|2 |3 |5 |712]10]| 15| 20 | 30

X |ap|wa|12| 1 | 2| 3|5 |712/10|15|20|30 |40 |40 |14a|22| 1| 2] 3|5
1S i LW [LW | LW | LW | LW [ LW [ LW | LW | LW | LW | LW | LW [ LW | LW | LW | LW | LW | LW
NOP | W LW
HR1 LW | LW | LW | LW | LW LW | LW | LW
PZ LW | LW | LW | LW | LW LW | LW | LW
PR W I|WwW|Ww LW | LW
PA LW [ LW [ LW | LW | LW | LW | LW | LW LW | LW | LW [ LW | W
HP1 LW [ LW [ LW | LW | LW | LW LW | LW | LW
AP-100 LW | LW | LW | LW LW | LW | LW
20L LW [ LW [ LW | LW | LW | LW LW | LW | LW | LW
TFP LW | LW | LW | LW | LW | LW
TK2 WI|lw|Ww]|w LW | LW | LW
1A LW | LW | LW | LW | LW | LW LW | LW | LW
TOP WIlw|Ww]|w Wlw]|w
TK3 W |w|w W(lw|w
Fikoa) LW | LW | LW [ LW | LW | LW | LW | LW LW | LW | LW | LW | W
DS W [LW | LW | LW | LW LW | LW | LW [ LW | W
1P LW [ LW [ LW [ LW | LW | LW | LW | LW LW | LW | LW | W
GSP2 LW | LW | LW | LW | LW
BCP LW [ LW | LW | LW | LW LW | LW | W
GSP-85 LW | LW | LW | LW | LW
FA1 WIltw|w|lw|Ww|[lw|w|wlww|w]|w]|w LW | LW | LW | W
30L W |[W |[LW|[LW]|LW|[LW|LW]|LW|[LW| W |W]|W LW | LW | LW | LW | W
PB LW | W |W([W|W|[W|[W|[LW|[W]|W]|[W LW | LW | LW | W
50T W [LW LW [ LW [LW | LW [LW | LW | W | W | W LW | LW | LW | W
PV2R2 LW | LW [LW | LW | LW | LW | W [ W | W LW | W
T6C LW | LW [LW | LW | LW | LW | W | W | W W | w
T6DA LW | LW [LW | LW | W [ W | W
—AEA LW | LW
VDC LW | LW [ LW [ LW | LW [ LW | W | W | W
T6B LW | LW [LW [ LW | LW [ LW | W | W | W LW | W
PC LW | LW [LW [ LW | LW [ LW | W | W | W LW | W
150T W | W W |W|WwW|lw]|wl|w
16D W[ WwWw|w|w/|w]|w
VQ45 Wi lwW|[w]|w]|w
SVQ45 W lwW|[w]|w]|lw
AR -

LRBPWIRKRAEERIUVRR » [L(IRKRATEEILINRR » REFTBREEMEL - Z8KRT
ZEREMERIEEE -

QULER—RERREBRERERERSEHAERELEE - B HMWSARRERAIREKRBITEIH

3BT BRI AR RN — BT - SR BEMASRRE2EES  OR[REEBRYRIERK] -

4 HASERRARANAR R R BT B IREAER - 8/ OR /NIRRT SEC R R E S £ & -

01



I8 B

IE3 A%

W*ﬁﬁﬁ IE3 Premium Efficiency Motors Specification

1= E R E

& =HRBERERERNEAERME (SCIM)
Kind of Motors Squirrel - Cage Induction Motors ( SCIM )
EEHKIR ERETZEE(IEC60034) , HEREERIEAE(CNS14400)
Design Standards IEC60034 , CNS14400
pEES EBRESAZR50HZ 2% 60HZ
Frequency Supply frequency 50HZ or 60HZ
ER FETEBER200V - 220V - 230V » 380V » 460V ( tH R ZEE BRI &M )
*E Voltages Rated voltage 200V, 220V, 230V, 380V, 460V ( or others )
B IThER 0.75 KW ~ 30 KW ( 1HP ~40 HP)
F& | output Power 0.75 KW ~ 30 KW ( 1HP ~ 40 HP )
AT R 50HZ » 1500 ~ 1000 r.p.m (4 & ~ 6 1% ) 60HZ » 1800 ~ 1200 r.p.m (4 1& ~ 6 4% )
o Rated speed 50HZ » 1500~ 1000 r.p.m (4 Poles ~ 6 Poles) 60HZ » 1800 ~ 1200 r.p.m (4 Poles ~ 6 Poles )
= HESR 80~300L -
I;: Frame Size 80~300L -
e | B BEEEENEREEREE SL °
Time Duty Continuous S1.
REAN 2R (IP54) ©
Protection Enclosure Totally Enclosed ( IP54).
AaAN 27 1C4118%5N mm4a0 o
Cooling Method Self External Fan, Surface Cooling (IC411).
ZEA HSW - JK P RIEEZRZ % B3 ©
Mounting Horizontal Foot Mounted B3 .
BiR BREHE T10% UR > SEREFE : = 5% IR °
Power Source Conditions Voltage : = 10% , Frequency : & 5%.
;E %P Place —RERNRE  EGREE o Shadow , Non-Hazardous.
FARERE |[iE3 Altitude BIR1000ARUTF o Less Than 1,000 Meters.
FH | Environment [F58 Ambient -15°C ~ 40°C © -15°C ~ 40°C .
Conditions Iz Relative Humidity | RH 90% AR ~ (BRBI&E © Less Than RH 90% ( Non-Condensation ).
= HMBERBNEOERBSES - HEh(EABEhEE -
"'(_E;' %.%ﬁit Hydraulic Direct-axis single bond coupling drive,
kS] Drive Method The drive shaft using Coupling.
AEC w8 (ERH)
< Direction of Rotation CW According to IEC Definition, Suitable for Bi-Directional Operation.
EEma EBREEEE Y-A BE) -
Method of Starting Full Voltage Direct on Line Y-A Starting .
E B FiRi@#% : 1HP ~ 20HP o
ﬁ Stator Insulation Class F Insulation System : 1~ 20 HP.
]
LS SEETEAIURTRER o
*ﬁ Bolt Thread Grease Pre-Packed Shielded Rolling Bearings.
BRI SO
c Bearing ISO Metric System.
2 BRMME » WEEREOT - B9 0ERERE »
| BRE A& ERTR 2 AIRAESR AR » (FRRT AR E A )
= Terminal Box Pressed Steel, Can be rotated 90 ° With Conduit Hole for Cable Entrance,
2 Depending on the load side of the left of the frame.(Also on the right making speci
o T = PN
O | EiET RNHIRER -
Ground Terminal Setup inside the Terminal Box .
‘H-‘E HIERIZ R IEC60034-30-1,IEEE-112757% B Wi e A 2= BREIEDAIE ©
Test Procedure IEC60034-30-1, IEEE-112 Method B And Full Voltage Measuring Starting Performance.
2 o EFERRRR » BPEIATSC AT » EAKREL.0
5 Winding Temperature Rise Not to Exceed 75°C for S.F.1.0 by Resistance Method.
c
g BERFE 120% [E5 $ERKHE 1988 o
S Over Speed 120% Syn. R.P.M for 1 Min.
T | mEER 150% SEESIEREE 157
o Over Torque 150% Rated Torque for 15 Sec.

02




SIERITE

« =48~ 60HZ - 220V

s EMAREREREEHM
* #&5 IEC34-1/EN60034 » CNS2934

i O e (VR HE Bk HiE hRER §&$
OUTPUT Rated speed Current Torque Power Factor | Efficiency
£ | 1% | Pole |Frame| MSUlat yoiage mEL | omE | #EE B e | |K | mE | W
on 100% | 100% |Locked| 100% |Locked 100% | 100%
HP | KW | P | Size | Class | v [rpm.| A A Kg-m % % % %
1 [075| 4 80 E 220 (1720 3.4 | 155 0.42 230 280 | 715 | 76.8
2 | 15| 4 | 9oL E 220 |1720| 5.7 | 315 0.84 220 280 | 84.2 | 81.2
3 | 22| 4 |100L| E 220 |1720| 8.7 | 50.5 1.26 200 260 | 82.0 | 82.9
5 | 37| 4 |112M| E 220 | 1740 | 13.9 | 82.0 2.10 190 265 | 80.8 | 86.5
75 | 55 | 4 |132S| B 220 | 1740 | 20.1 | 1250 | 3.15 190 240 | 84.0 | 87.0
10 | 75 | 4 |132M| B 220 | 1740 | 25.1 | 189.0 | 4.20 190 240 | 88.5 | 88.0
15 | 11 4 |160M| B 220 | 1740 | 37.8 | 289.0 | 6.30 220 240 | 854 | 89.5
20 | 15 4 |160L| B 220 | 1740 | 50.3 | 351.0 | 8.40 220 240 | 88.4 | 885
25 | 185| 4 [180M| B 220 | 1740 | 63.0 | 430.0 | 10.50 210 240 | 86.6 | 89.0
30 | 22 4 |180M| B 220 | 1740 | 73.0 | 539.0 | 12.60 | 210 240 | 88.9 | 89.0
40 | 30 4 |180L| F 220 | 1740 | 97.0 | 612.0 | 16.80 210 230 | 88.2 | 92.0
« IE3 ~ =#8 > 60HZ ~ 220V s 2EMNEE - FIRIBH « 5BiB40°C
e &5 IEC60034-30-1+ CNS14400
] ] Bk hREE WE
OLT’I?UT By M RE | BE Riispeed C:rent Tﬁ:ﬁe Power Factor Eﬁs:fiefcy
mE | £ L £ B mE | mEk
R571 | % | Pole [Frame weight \Voltage jiz/o 1?30 Liid jiio Liid =2 1?30 jiz/o
HP | KW P | Size Kg vV |[rp.m.| A A Kg-m % % % %
I e 80 17 | 220 |1720| 2.9 18.3 0.42 275 308 | 79.0 | 855
6 | 90L | 25 | 220 |1150| 3.5 | 21.1 0.63 260 295 | 67.7 | 825
5 | 15 4 | 90L | 25 | 220 |1740| 5.9 37.5 0.84 239 286 | 78.0 | 86.5
6 |100L| 40 | 220 |1160| 8.6 47.2 1.27 352 328 | 51.3 | 885
3 | 22 4 |100L| 38 | 220 |1750| 8.5 63.9 1.26 309 321 | 79.0 | 89.5
6 |112M| 48 | 220 |1170| 8.5 66.7 1.83 272 363 | 76.1 | 89.5
4 |112M| 48 | 220 |1760| 13.0 | 1143 | 2.11 299 375 | 83.0 | 89.5
3| 3 6 |132S| 68 | 220 |1170| 14.4 | 1050 | 3.17 185 280 | 75.5 | 89.5
4 |132S| 68 | 220 |1760| 19.0 | 142.0 | 3.11 280 299 | 85.0 | 917
T3 33 6 |132M| 80 | 220 |1170| 20.9 | 170.0 | 4.66 230 | 290 | 78.7 | 91.0
0 | 15 4 |132M| 80 | 220 [1760| 25.0 | 199.0 | 4.17 290 300 | 87.5 | 917
6 |160M| 120 | 220 |1170| 26.8 |210.0 | 6.24 280 285 | 81.4 | 91.0
| m 4 |160M| 120 | 220 |[1770| 36.0 | 320.0 | 6.11 270 280 | 86.8 | 92.4
6 |160L| 150 | 220 |1170| 39.9 | 320.0 | 9.15 305 290 | 80.0 | 917
4 |160L| 150 | 220 | 1770 | 48.8 | 342.1 | 8.24 260 290 | 87.9 | 93.0
201 15 6 |180M| 180 | 220 |1170| 51.6 | 340.0 | 12.44 240 235 | 83.0 | 917

Note: (1) E i BB E G B E, 8 F 5 7585 -

(1) All datashown above is subject to change without prior notice.

03




i I2E i B

E Premium Efficiency Motor Full Load Current Chart

BE {1 unit: Amp

3 PHASE - 50Hz

Pole | Kw | RPM | kg | 200V | 208V | 220V | 230V | 240V | 346V | 380V | 400V | 415V | 440V | 460V |480V | 575V | 660V

1/4 0.18 | 1420 187 (180 | 1.7 |163 |156 |1.08 |0.98 | 094 | 09 |085 081 [0.78 |0.65 |0.57
1/2 037 [ 1420 | 13 [220 [212 | 2.0 191 [1.83 [127 {116 | 1.1 |1.06 |1.00 [096 |092 |0.77 |0.67
1 075 [ 1420 | 16 | 40 [ 38 |36 |34 |33 |23 |21 [20 [19 |18 |17 |165 |14 | 12
2 15 [ 1420 22 | 69 |67 |63 |60 |58 |40 [3.6 |35 |33 [32 |30 |29 |24 |21
3 22 1430 30 |[102 | 98 |93 |89 |85 |59 |54 |51 |49 |47 |44 |43 |36 |31
5 3.7 | 1430 | 38 | 158 [152 [14.4 [138 [132 |92 [83 |79 |76 |72 |69 |66 |55 |48
75 | 4P | 55 | 1440 | 65 |240 |23.1 |21.8 [209 |200 |139 [12.6 |120 |11.6 [109 |104 |100 | 83 | 7.3
10 75 | 1440 | 73 |328 [315 |29.8 | 285 [27.3 |189 |17.3 |164 |158 |149 |[143 |13.7 |[114 | 99
15 11 | 1440 | 120 | 466 | 448 |42.4 | 406 |389 |27.0 [245 |233 225 [212 [203 [194 [162 |141
20 15 | 1440 | 150 | 63.8 |61.3 [58.0 | 555 [532 [369 [33.6 |31.9 307 290 |27.7 266 [222 |19.3
25 185 | 1440 | 180 | 78.1 | 751 |71.0 | 679 |651 |451 [41.1 [39.1 |37.6 |355 |340 |325 [272 |[23.7
30 22 | 1440 | 220 | 91.3 | 878 |83.0 | 79.4 | 761 | 528 |48.1 | 457 | 440 | 415 | 397 | 380 | 318 |277
40 30 | 1440 | 240 |123.2 |118.5 [112.0 [107.1 [102.7 | 712 | 64.8 | 616 | 59.4 | 56.0 | 53.6 | 51.3 | 42.9 | 373
1/4 018 | 940 | 13 [ 1.98 |[1.90 |1.80 | 1.72 | 165 | 1.14 | 1.04 | 0.99 | 0.95 | 0.90 | 0.86 | 0.83 | 0.69 | 0.60
1/2 037 | 940 | 16 |3.19 [3.07 [2.90 | 277 | 266 | 1.84 | 1.68 | 1.60 | 1.54 | 1.45 | 1.39 | 1.33 | 1.11 | 0.97
1 075 | 940 | 22 | 51 | 49 |46 | 44 | 42 | 29 |27 |25 | 24 | 23 |22 | 21 | 18 | 15
2 15 | 940 | 30 | 85 | 81 | 7.7 | 74 | 71 | 49 | 45 | 42 | 41 |39 |37 | 35 | 29 | 26
3 22 | 940 | 38 | 116 |11.1 | 105 [ 100 | 96 | 67 | 6.1 | 58 | 56 | 53 | 50 | 48 | 40 | 35
5 | p |37 |94 | 65 |187 [180 |17.0 | 163 [156 [108 | 9.8 | 94 | 90 | 85 | 81 | 78 | 65 | 57
7.5 55 | 940 | 73 | 275 | 264 | 250 | 239 | 229 | 159 |145 | 138 | 133 | 125 |120 | 115 | 96 | 83
10 75 | 940 | 120 | 363 | 349 [33.0 [316 |303 |21.0 [19.1 | 182 | 175 | 165 | 158 | 151 | 12.6 | 11.0
15 11 | 940 | 150 | 51.7 | 49.7 | 47.0 | 450 | 43.1 | 29.9 |27.2 | 259 | 249 | 235 | 225 | 215 | 180 | 157
20 15 | 940 | 180 | 737 | 709 |67.0 | 641 | 614 | 426 |38.8 | 369 | 355 | 335 | 320 | 307 | 256 | 223
25 1855 | 950 | 220 | 825 | 793 |75.0 | 71.7 | 68.8 | 47.7 | 43.4 | 413 | 39.8 | 375 | 359 | 344 | 28.7 | 250
30 22 | 950 | 240 |[104.5 |100.5|95.0 | 909 | 87.1 | 60.4 |55.0 | 523 | 504 | 475 | 454 | 435 | 363 | 317

3 PHASE - 60Hz

HP | Pole | kW | RPM | kg | 200V | 208V | 220V | 230V | 240V | 346V | 380V | 400V | 415V | 440V | 460V | 480V | 575V | 660V
1/4 0.18 | 1720 154 | 148 | 1.40 | 1.34 | 1.28 | 0.89 |0.81 | 0.77 | 0.74 | 0.70 | 0.67 | 0.64 | 0.54 | 0.47
1/2 037 | 1720 | 13 | 1.87 |1.80 | 1.70 | 1.63 | 1.56 | 1.08 | 0.98 | 0.94 | 0.90 | 0.85 | 0.81 | 0.78 | 0.65 | 0.57
1 075 | 1720 | 16 | 39 | 37 |35 | 33 |32 | 22 |20 [193 |18 | 1.8 | 1.7 | 16 | 1.3 | 12
2 15 [ 1720 | 22 | 63 | 60 |57 | 55 | 52 |36 |33 [ 31 [30 |29 | 27 |26 | 22 | 19
3 22 1720 30 | 96 | 92 |87 |83 | 80 |55 [50 |48 | 46 | 44 | 42 | 40 | 33 | 29
5 37 | 1740 | 38 | 153 | 147 [13.9 [ 133 |127 | 88 [ 8.0 | 76 | 74 | 70 | 66 | 64 | 53 | 46
75 | 4P | 55 | 1740 | 65 |222 | 214 |20.2 | 193 | 185 | 12.8 |11.7 | 111 | 107 [101 | 97 | 93 | 77 | 67
10 75 | 1740 | 73 | 301 |29.0 |27.4 | 262 | 251 | 174 | 159 | 151 | 145 | 137 |13.1 | 126 | 105 | 9.1
15 11 | 1740 | 120 | 440 | 423 |40.0 | 383 | 367 | 254 |23.2 | 220 | 212 | 200 | 19.1 | 183 | 153 | 133
20 15 | 1740 | 150 | 58.3 | 56.1 |53.0 | 50.7 | 486 | 33.7 [30.7 | 292 | 281 | 265 | 253 | 243 | 203 | 177
25 185 | 1740 | 180 | 69.3 | 66.6 | 63.0 | 60.3 | 57.8 | 40.1 |36.5 | 347 | 334 | 315 |30.1 | 289 | 241 | 210
30 22 | 1740 | 220 | 803 | 772 | 73.0 | 69.8 | 669 | 46.4 |42.3 | 402 | 387 | 365 | 349 | 335 |27.9 | 243
40 30 | 1740 | 240 |106.7 [102.6 |97.0 | 92.8 | 889 | 617 |56.2 | 53.4 | 514 | 485 | 464 | 445 | 371 | 323
1/4 0.18 | 1140 | 13 | 121 |1.16 |1.10 | 1.05 | 1.01 | 0.70 | 0.64 | 0.61 | 0.58 | 0.55 | 0.53 | 0.50 | 0.42 | 0.37
1/2 037 | 1140 | 16 | 2.42 | 233 |2.20 | 210 | 202 | 140 | 1.27 | 121 | 117 |1.10 | 1.05 | 1.01 | 0.84 | 0.73
1 075 | 1140 | 22 | 42 | 40 |38 | 36 |35 | 24 [ 22 |21 |20 |19 |18 | 17 | 15 | 13
2 15 | 1140 | 30 | 7.7 | 74 |70 | 67 | 64 | 45 | 41 | 39 |37 |35 | 33 |32 | 27 | 23
3 22 | 1140 | 38 | 11.0 | 106 [10.0 | 96 | 92 | 64 |58 |55 |53 | 50 | 48 | 46 | 38 | 33
5 p |37 | 1160 | 65 |165 | 159 |150 | 143 | 138 | 95 |87 |83 |80 | 75 | 72 | 69 | 57 | 50
7.5 55 | 1160 | 73 | 270 | 259 | 245 | 234 | 225 | 156 |14.2 | 135 | 130 | 123 |117 | 112 | 94 | 82
10 75 | 1160 | 120 | 319 |30.7 |29.0 | 277 | 266 | 184 |16.8 | 160 | 154 | 145 | 139 | 133 | 111 | 97
15 11 | 1170 | 150 | 49.1 | 472 | 44.6 | 427 | 409 | 284 |25.8 | 245 | 236 | 223 | 213 | 204 | 171 | 149
20 15 | 1170 | 180 | 66.0 | 635 | 60.0 | 57.4 | 55.0 | 38.2 | 34.7 | 33.0 | 31.8 | 30.0 | 28.7 | 27.5 | 23.0 | 20.0
185 | 1170 | 220 | 803 | 772 | 73.0 | 69.8 | 669 | 46.4 |42.3 | 402 | 38.7 | 365 | 349 | 335 |279 | 243

22 | 1170 | 240 |106.7 [102.6 |97.0 | 92.8 | 88.9 | 617 |56.2 | 53.4 | 514 | 485 | 464 | 445 | 371 | 323




UREIBEANSEEERE

& E Voltage T E Voltage
B B
SHIE o B = e SHIE o B = 28
Country B Country E M = H
1-Phase 1-Phase | 3-Phase
=T | Afghanistan 50 220 220/380 B8 Iran 50 | 110/220 | 220/380
FaIE A2 FIIZE | Algeria 50 | 127/220 | 220/380 FEHE | Irag 50 220 220/380
FItRZE | Argentina 50 220 220/380 ZHWE@ | Ireland 50 220 220/380
M Australia 50 240 240/415 U5 | lIsrael 50 230 230/400
HEihF| | Austria 50 220 220/380 4650 | 110/220 | 220/380
ErRfE | Bahamas 60 120 120/208 HAF | raly 50| 127/220
. 127/220 A
iz g
LEFIBF [ Belgium 50 | 11e100 220/380 #60| 120/260
50/60| 110/220 50/60| 100/200
i} Brazil 220/380 B Japan 220
60 127 #50 220
b TN Burma 50 230 230/440 )= Jordan 50 220 220/380
- _ . 220
=D Cambodia 50 120 220/380 =15 Korea 60 | 1002200 | o0
120/240
MEX | Ganada 60 | 110/120 22‘%%40 BEE | Kuwait 50 zzi%/ 22213;80
115/230
=0l Chile 50 220 220/380 =S | Mexico 6o | 1107220 208/220
120/127
FEEARE | China 50 220 220/380 il Netherlands 50 | 110/220 | 220/380
&b EE | Colombia 60 | 110/220 220 PR | New Zealand 50 230 230/400
SFHRRZEMN | Costa Rica 60 | 120/240 240 EifIm | Nicaragua 60 | 120/240 240
HE Cuba 60 | 115/120 240 0 Norway 50 230 230
. ) 230/400
R’ Czechoslovakia 50 | 120/220 | 220/380 EEHTE | Pakistan 50 230 20/380
IRE-S Den mark 50 20 220/380 BEE Panama 60 |110/220/120| 220/240
N 220 \
B
ZEAEN | Dominican 60 | 110/220 220/440 we Peru 60 | 110/220 220
=54 Egypt 50 220 220/380 JEfZE | Philippines 60 | 115/230 220
110/220
S Finland 50 220 220/380 B®S | Portugal 50 |110/190/220| 220/380
. 220/380
. 115/220 VA= . . 50 | 120/208
~ -
pE France 50 127 220/380 BT Saudi-Arabia 60 1271220 23;)14;00
&R Germany 50 | 110/220 | 220/380 #1_B | Scotland 50 240 240/415
. 115/230 230/400
7o HE Greece 50 220 220/380 ¥hNE | Singapore 50 70 i
. - . 220/380
% Greenland 50 220 220/380 R JEHFNE | South Africa Rep. 50 | 2201230 | o000
T EHL | Guatemala 60 [120/127/220| 220/240 FEYISF | Spain 50 | 127/220 | 220/380
FEERRIERT | Honduras 60 | 110/220 220 Wt Switzerland 50 220 220/380
110 S . 220
&5A Hong Kong 50 220/346 #=E Thailand 50 220/380
200/230 110/220
220/380
127/230
®FF | Hungary 50 220 220/380 THHE | Turkey 50 220 220/380
pid= Ice land 50 220 220/380 xE U.S.A. 60 | 120/240 240/480
. 220/380 e . .
i
EE India 50 230 230/400 £ United Kingdom 50 240 240/415
110/190 S
Elfe Indonesia 50 | 127/200 220/380 [2Es] Viet-Nam 50 220/380
P 127/220

05




EHEBESERGE
=M/ER three phase six wires

A Y
(6) (@) (5) (eNaN5
988 ooe

LOW VOLT {KE HIGH VOLT 5 &

=/BNIER three phase nine wires

0 O ONOIDIO,
(W) () () (2} (v2) (W)
B8 oo

LOW VOLT {E& HIGH VOLT 5E&

=1B121&#& three phase twelve wires

CIoIONO © O
WL WO

LOW VOLT {kJEE HIGH VOLT 5 &

=48 three phase 2P/4P

(UMW)
) () W)
rort

() () W)
00e

~ )
@) ) 1) 200 346 @=(xD=(12)
7 (D) () 208 380 ZD(xD=(VD)
220
L) (2) 230 LY W)
UD) (W 240 U) (v Wy
4 4 4 4 4 4
LINE LINE
RUN (24) START(2Y)
L LOW VOLT {£E )
ERI0ERR S ERE

single phase four wires

<
% 400 760
B @ U@ @ @
@@%% @D~
(v) WD 480 @ @ @
4 4 4 4 4 4
LINE LINE
RUN(A) START(Y)
HIGH VOLT & )

single phase six wires

1@ 106 @@6| DO 2@

1 1 LOW VOLT
LOW VOLT R EE
1RE

LOW VOLT
1R ER

VLIP PRIPES| DOIOE

HIGH VOLT
HIGH VOLT 5
1] T mE

=B

BELTEIFIEEIE
- CHEREREE RGBT S ER A -
- SEISAMKEETE

- BEEEEERE %EEE » BERERLER(
AR EERMETITEA - MHEREES M -

- SHEREERACE AR

06

HIGH VOLT
=R

ERICRER  BERNERATENGREREEES -
Eﬁ’?ﬁgfﬁ}%%uwﬁ)



EE'HB-I ':I: 5-1\ ﬂﬂ Assembly drawing

| S{4BfBE Parts List

15/ ERTE =HEB 15H el
Part NO Description Description Part NO Description
No.1 | HUFEZR Braket-L No.11 | B & Fan cover No.21 | 75AH8H% Socket head screws
No.2 |#EZR  Frame No.12 | H#RRZ Out line rind No.22 | BRHHELME Screw washer
No.3 | #R¥EZR Braket-F No.13 | HiRETE E);l\'féirne boxlower No.23 | 7NAR%R Socket head screws
No.4 | BiEHAX Bearing-L No.14 | E#F{RZE 2% Bushing head No.24 | +FUE%% Cross screw
No.5 | /M  Shaft No.15 | #EZfRiR Patch board No.25 | BR#k Screws
No.6 | #F  Rotor No.16 | ¥EHFHRFEZ Patch board cover | No.26 | &1 Screw nut
No.7 | EF  Stator No.17 | HARE:ZE grl:;cclli:e boxside | 07 | #2#k Screws
No.8 | HEA& Bearing-F No.18 | Hifgg kg Outline boxupper
No.9 |ERZE  Pre-load spring No.19 | BIR Flying rings
No.10 | B Fan No.20 | Z&h% Name plate

07




SREHRIREBE

g’f;: ‘ — R ‘ vind
1 NOP AM5/5A/6 ¢5x11 15 30 60 M6x1.0
2 NOP ~ TOP ¢5x11 15 30 60 M6x1.0
3 HR1 $10x3 11.5 26 35 30 164 M6x1.0
4 Pz Pz $10x3 11.5 26 35 $50.8 82.55 M8x1.25
5 PR SHBIEPR $11.06x8 14.6 21 30 54 70 M6x1.0
6 PA KPO5 ~ HGP-2A ~ KIP $12.5x4 14 22 38 $50.8 [163.5 M8x1.25
T HP1 ®12.7x3 13.9 32 40 $50.8 82.55 M8x1.25
8 | AP-100 $12.7x3.175| 14.3 30 40 $50.8 82.55 M8x1.25
9 VPE-F8/12/15/20/24 | $12.7x3.175| 14.2 19 36 $82.55 106.3 M10x1.5
10 15L VAl $12.7x3.175| 14.3 19 36 $82.55 106.3 M10x1.5
11 VCM-SF-12/20 $12.7x3.175| 143 | 19.1 | 36.5 $82.55 106.3 M10x1.5
12| YP-10 $12x3 135 30 40 $50 106 M8x1.25
13 TFP ®12x3 13.2 25 40 $30 56x73 M6x1.0
14 TK2 TK1504/06/08/10 d12x4 14 40 45 42 68 M6x1.0
15 1A HGP-1A d12x4 14 16 | 28.8 $30 (164 M6x1.0
16 TOP VOP ¢ 14x4 16 40 45 47 68 M8x1.25
17 TK3 TK3015/20/30/40 $15x5 17.5 40 45 52 95 M8x1.25
18 VVP-F8/12/15/20 (5&) | ¢15.875x4 | 17.7 19 36 $82.55 106 M10x1.5
19 54 YP15 ~ IG2F $15.875x4 | 17.73| 34 59 $82.55 106.4 M10x1.5
20 GE4-26 $15.875x4 | 17.72 | 34 315 $82.55 106.36 M10x1.5
21 3A~HP2 $15.875x4 | 17.6 18 | 31.8 $82.55 106.4 M10x1.5
22 DS DS ¢ 16x5 18.2 | 18.5 28 $70 98 M8x1.25
23 FB1 $16x5 18.2 | 18.5 28 $70 98 M8x1.25
24 1P 1P $17.46x5 19.6 40 50 $82.55 106.3 M10x1.5
25 GSP2 AH $18x6 20.5 45 55 $80 71.5x100f% § M8x1.25
26 BCP IG2E $18x6 20.5 30 41 $82.55 106.4 M10x1.5
27 DEG4-26 ¢ 18x6 20.5 28 50 $82.55 106.36 M10x1.5
28 | GP2-85 T $19.05x4.76| 21.4 40 50 $70 [195.31FE | M8x1.25
29 PV2R1 ~ VCM-1M $19.05x4.76 | 21.24 25 445 $82.55 106 M10x1.5
30 FAL VQ15 $19.05x4.76 | 21.24 27 53.5 $82.55 106 M10x1.5
31 Al6 ~ A22 ~ FAl1 $19.05x4.76| 21.25 22 46 $82.55 106.3 M10x1.5
32 JBZ=P08 ~ P16 ~ P22 |$19.05x4.76| 21.2 32 49 $82.55 106.4 M10x1.5
33 VCM-SF-30/40 $19.05x4.76| 21.4 22 37 $95.02 190 M10x1.5
34 VPE-F25/30/40 $19.05x4.76| 21.4 22 37 $95.02 190 M10x1.5
35 30L VD2 $19.05x4.76| 21.4 22 37 $95.02 190 M10x1.5
36 50T ($19) $19.05x4.76| 21.4 25 50 $95.02 190 M10x1.5
37 VD1VD1 $19.05x4.76| 21.4 22 37 $95.02 190 M10x1.5
38 PB PB ®20x5 22.5 32 40 $82.55 106.3 M10x1.5
39 IG3E $20x6 23.5 30 41 $101.6 146 M12x1.75
40 50T VCM-50T $22x5 24 28 50 $96 190 M10x1.5
41 50T $22x5 24 28 55 $96 190 M10x1.5
4?) PHB PHB G22x7 25 32 39 $82.55 106 M10x1.5
43 | PV2R2E PV2R2(T&F3) $22.22x4.76 | 24.7 50 60 $101.6 146 M12x1.75
A37 ~ PV2R2 ~ P36 $22.23x6.35| 25.08 | 35 | 58.5 $101.6 146 M12x1.75
T6C V23~ V38 ~ HVQ $22.23x6.35| 25.08 | 35 58.5 ¢101.6 146 M12x1.75
VQ25 $22.23x6.35 | 25.01 32 | 60.5 $101.6 146 M12x1.75
T6D-A VQ25 $22.2x6.35 | 25.01 | 31.5 | 59.5 G127 181 M16x2.0
SVQ215 $22.2x6.35 | 25.01 | 31.5 | 59.5 127 181 M16x2.0

08




F| B
| BISR

SREHRIREBE

‘ —hR B SHR B AR ‘

DER T
AxB

#5
C

B

D

L
E

AHAE

F

EEFL B

G

AR $25x8 ®63 M8x1.25
50 VDC 45A $®25.4x4.76 | 27.6 38 78 $135 (1124 M12x1.75
51 PV2R2 $25.4x6.35 | 28.18 | 32 89 ¢101.6 146 M12x1.75
52 T6B PV2R12 $25.4x6.35 | 28.18 | 40 67 $101.6 146 M12x1.75
53 VCM-12M $25.4x6.35 | 28.18 | 40 67 $101.6 146 M12x1.75
54 VCM-2M $25.4x6.35 | 28.18 | 32 59 $101.6 146 M12x1.75
55 PC PC G 25x7 28 36 57 $101.6 146 M12x1.75
56 1G4E IG4E $25x8 28 45 72 ¢101.6 146 M12x1.75
57 150T 150T PUL $30x7 33 32 [ 505 $160 187 M12x1.75
58 150T /571 $30x7 33 31.5 | 50.5 $160 187 M12x1.75
59 IG5F $31.75x7.94| 3533 | 50 85 G127 181 M16x2.0
60 VCM-3M $31.75x7.94| 35.32 | 40 75 127 181 M16x2.0
61 T6D PV2R3 $31.75x7.94| 35.32 | 40 75 $127 181 M16x2.0
62 VQ35 $31.75x7.94| 35.32 | 46 75 $127 181 M16x2.0
63 VCM-13M/23M $31.75x7.94| 3532 40 75 127 181 M16x2.0
64 V50 ~ V70 ~ P70 $31.75x7.94| 3535 38 57 $127 181 M16x2.0
65| VP46 IG5E $32x10 35 50 89 127 181 M16x2.0
66 VQ45 VQ425 $38.1x9.54 | 4236 | 50 | 85.7 ¢ 127 181 M16x2.0
67 VQ45 $38.1x9.54 | 4236 | 50 83 127 181 M16x2.0
68 PV2RA SVQ45 $38.1x9.54 | 4236 | 50 83 $1524 [1228.6 | M20x2.75
69 SVQ435 $38.1x9.54 | 4236 | 50 84 $152.4 [1228.6 | M20x2.75
70 GS2 Tar —FfL ¢17x5 20.5 25 36 $82.55 106.3 M10x1.5
71 | RMEME $20x8 45 50 $82.55 106.3 M10x1.5
72 | REBATE $24x10 45 | 50 | ®95.02 [J90 | M10xl5

5t

LU BRRRTAESETBERHAL -

AU o

2.5 RETREmE %i_ﬁ?*ﬁ%#ﬁ*%%lﬁ}?#

3. HMFAMRERRIAIETR -

» B E B SR EE

HtBERRTHREREE REE

S AR

BRI AT

09




TEERSEHENARE

=B :
B ER -~ BEEKE L FKHE -
SHRERTHRES R BN AIKRE R FE KA -

TFP DS

M6xPI1.0

MIOxP1.5

PA 1A
M6xPI1.0
| : )
o(,j ?oi * N
et &8
—
@30
FAI HPI
MI0xP1.5
O O, B
4
#8255
30L . 15L MIOXPLS 3175

10




TEERSEHENARE

7 LPA
4-312
Q
3% 5 M8xP1.25 4
o o r
< =
o\ © ° 5 4
~L—
o o D125
@508
T6B a7 30L
4312
A% 476
MIOxP1.5 :
o A

‘ 190
214 |

?19,05

H%}

50T

TeC

T6D




BiERRYT

L \ N i
& 3
= Q
[ Y
{J 1
B 090 _ 10 B @187 s
2HP~5HP 7. 5HP~20HP
= & —
'Y TNEBEINES SRR
BiE | SR .
4P | 6P | 2 EREBA
’ tg *EH Lmﬂwﬁiﬁﬁ
1|12
— 150 |1A.PA.DS.15L.PPZ01.A10.BRK.TOP.TFP.AP-100.QT23
30L
3| 2 165 |HG1.DD02.BKP.PV016.KF80
5 [ 3 172 |50T.T6C.FAL
L | 210 [P100
75| 5
T6C | 215 |PA.T6D.A10VSO.150T.VDC.HG2.HGL.PV032.VQ45.KF80-100.PV16-23
10 | 75 1 276 |PV2R4.GR55
FAL | 210 |P100
15 | 10 | Tec
tep | 215 |PA.30L.50T.VDC.HG2.HGL.GRA0.BRK.VQ45.KF80-100.150T(67L).PV16-23
150T 1 245 |PV8
20 15 PV63
BkP | 276 |PV2R4.GR55

| BATUEE [ 10 8% 15 1R AR 13

Bi% | EiEiR o
4P | 6P | - BB
’ ZIE *E*g Lﬁﬁm}ﬁi'ﬂ?
1|12
T 1 0t 150 |1A.PA.DS.15L.PPZ01.A10.BRK.TOP.TFP.QT23.AP-100
3| 2 | 50T | 165 [HG1.DD02.BKP.PV016.KF80
5 | 3 172 |T6C.FAL
75| 5 210 [P100
10 | 7.5 1507 | 15 |PA-15L-30L50T.T6C.T6D.VDC.HG2.HGL.GRA0.PV032. BRK.VQ45.A10VSO.PALOV-
15 | 10 71.KF80-100.150T(6FL).PV16-23
20 | 15 276 |PV2R4.GR55
25 | 50 | 150T 210 |P100
Pv46 | 215 |FA1.30L.50T.BRK.VQ45.VDC.PV032.150T(67L)
30 | 25 | T6D | 245 |pv8
T6C [ 276 [Pv2r4.GR55




ERESEHESHREHSEBNRT

| ITNRIE e

[}
i ///////////Zg

BE{S unit : mm

| BHh | % | AME|BiZE| ci24 |DEER| ENEL

I NRYE(CEMEEMNR) | 1-2HP | 80/90 | 200 | 130 144 84 |165x 8.5
TR (30L) 1-2HP | 80/90 | 200 | 130 144 95 |165x 28.5
YARY% 3-5HP [100/112| 250 | 180 147 105 | 215x 28.5
YARYE 7.5-10HP| 132 300 | 230 184 152 | 265x @12
AR 15-20HP| 160 350 | 250 |183-215| 188 | 300x o14

| EARURIE

RTEARY

RITEARNRY 180 | 6206 136 95
RN RY 5HP 112 194 | 6306 146 95
RTEARNRYE 10-7.5HP | 132 24 | 6308 190 160
RITEARRYE 15-20HP | 160 265 | 6309 252 160
| RIEEEERERE

13




TE‘E L) Hj!mﬂ_‘sl; BEW Low voltage horizontal motors

BE unit: mm

4P / | 6P NE 5% |46 B #h im  Axile Dimension [RE
A |AA|AB|AC|AD|B [BB| C |H|HA|[HD|K | L

HP HP | Frame [Phase D|E |ED[F| G | GA | Kg
1/2 1/4 71 3 |112|40 15016613390 [116| 45 |71 |10.5(155(10(243(14|30(25|5| 11 (16 | 13
1 1/2 80 3 |125(37|158|179(139(100(132( 50 | 80| 11 [173|10(277(19(40(30|6 [15.5/21.5| 16
2 1 90L 3 |140(40|174(203|152(125[157| 56 | 90| 11 [193|12(318|24(50|40(8 | 20 | 27 | 22
3 2 100L | 3 (160]|41(197|224|162(140|177( 63 [100] 13 |245/12|362|28|60|140|8| 24 | 31 | 30
5 3 112M| 3 |190|46|228|234| 166|140 177| 70 |112) 13 |263[12|367[28|60(40|8 | 24 | 31 | 40
7.5 5 132S| 3 |216(50 (259|270(191|140|175| 89 (132| 14 |308(12|436(38 (80|60 |10| 33 | 41 | 60
10 7.5 [132M| 3 |216(50(249(270/191(178|213| 89 (132| 14 |308|12|472(38(80|60|10( 33 |41 | 70
15 10 [160M| 3 [254|50 [300|344(256|210(250|108 |160| 18 |374(15(610|42(110|80 |12| 37 | 45 | 120
20 15 | 160L| 3 |254|50 (300(344(256(254(300(108|160| 18 [374|15|654|42(110(80 |12| 37 | 45 [130
25(30f 20 |180MC| 3 |279|75 |356|389|303(241(300(121 |180| 24 (419|15(679(48 (110(80 |14(42.5|51.5|180
40 |25|30|180LC| 3 |279(80 |356(389|303(279(330|121|180( 20 (419|15(717|55(110|80 (16| 49 | 59 | 240
1/2 - 80 1 |125|37 |158|179|136|100{132| 53 |80 | 11 [173(10|287(16|30|25|5 |13.5(18.5| 15
1 - 90L 1 [155]|40(192|198(153|125|145( 45 (90| 10 |193|12|313|22|50 |40 |7 |18.5|25.5| 24
2 = 90L 1 (140|140 (178|203(157|125|156(61.5(90 | 11 |193|12|349(24|50 |40 |8 | 20 | 27 | 28
3 - 112M| 1 |190(48 |226(234|174|140(178| 75 |112| 12 [263|12(398|28 (60 (40 (8 |24 | 31 | 43
5 - 112M| 1 (190|47 |224(235|174|140(201| 90 |112| 13 (263124282860 (40 |8 |24 | 31 | 48

i lLERLERSH

14

DAZEEALTSMM ' CRIAZEEATIMm o
/b\T%{TL%H °

QULBEERRE -




;EE %ﬁﬂﬂEE st Hydraulic drive motor horizontal type

-

BE unit: mm

4P 6P HESR | FHEX FE
A AA | AB | AC | AD B BB C H HA | HD K L
HP HP | Frame| Phase Kg

1/2 1/4 | 80 | 3 |125|37 |156 | 178|139 |100 | 121 |53.5| 80 | 8 |173 | 10 | 235| 13

1 1/2 80 3 |125| 35 | 155 | 174 | 140 | 100 | 130 | 53.5( 80 | 10 | 173 | 10 | 240 16
2 1 90L 3 140 | 40 | 172 | 195 | 146 | 125 | 156 | 52 | 90 | 10 | 193 | 12 | 270 22
3 2 100L 3 | 160 | 41 | 197 | 224 | 162 | 140 | 177 | 65 [ 100 | 13 | 245 | 12 | 305 31
5 3 112M| 3 190 | 45 | 228 | 237 | 165|140 | 172 | 57.5| 112 | 12 | 265 | 12 | 300 38
1.5 5 132S 3 |216 |50 | 259 271 | 191 | 140 | 175 | 77 (132 14 | 308 | 12 | 345 56
10 7.5 |[132M| 3 [216 |50 [ 249 | 271|191 |178 | 213 | 75 |132| 14 [ 308 | 12 | 380 64
15 10 160M| 3 (254 | 50 | 300 | 344 | 256 | 210 | 250 [ 86.5|160 | 18 | 374 | 15 | 480 | 109
20 15 160L 3 | 254 | 50 | 300 | 344 | 256 | 254 | 300 | 86.5(160 | 18 | 374 | 15 | 525 | 126

25130 20 [180MC| 3 |[279 | 75 |356 | 389 | 303 [ 241 | 300 | 104 | 180 | 24 | 419 | 15 | 555 |180/220

40 25| 30|180LC| 3 | 279 | 80 | 356 | 389 | 303|279 | 330 | 104 (180 | 20 | 419 | 15 | 590 | 240

1/2 - 80 1 | 125 | 37 | 158 | 179 | 136|100 | 132 | 61 | 80 | 11 | 173 | 10 | 270 16
1 - 90L 1 140 | 40 | 174 | 203 | 157 | 125 | 157 | 60 | 90 | 11 | 193 | 12 | 295 23
2 - 90L 1 |140 | 40 | 178 [ 203 | 157 | 125 [ 156 | 70 | 90 | 11 | 193 | 12 | 310 28
3 - 112M 1 190 | 48 226 | 235 | 174 | 140 | 178 | 80 | 112 | 12 | 263 | 12 | 345 40
5 - 112M 1 (190 | 47 [ 224 | 235 | 174|140 (201 | 95 | 112 | 13 (263 | 12 | 375 47

EH/I

1l ERLEEESHDAEEAES MM CRIAEZEEATIMmM -
QU LEEEEEE » BMAFBITEA -

15




;EE %ﬁﬁﬂEE HSL Hydraulic motor vertical type

AR . 1
- Z|a
el I
i
- B3 unit: mm
4P /| 6P SR | ABEK FE
AC | AD L LA| M N P S T
HP |/ HP Frame Phase Kg
1/2 | 1/4 71 3 157 |1 131|245 | 11 | 130 X 157 | 11 X 13
1 1/2 80 3 177 | 140 [ 256 | 10 | 180 | 130 | 206 | 12 |12 | 17
2 1 90L 3 196 | 150 (275 [ 10| 200 | 130 (230|125 10| 24
3 2 112M 3 228 | 1651290 | 11| 225 | 180 | 250 (12.5]| 10| 32
5 3 112M 3 228 | 165|290 | 11| 225 | 180 | 250 | 125 | 10 | 37
1.5 5 132S 3 268 | 195|346 | 14 | 265 | 230 | 300 | 15 5 61
10 7.5 132M 3 268 | 195|380 | 14| 265 | 230 | 300 | 15 5 71
15 10 160M 3 318 | 250 | 505 | 18 | 300 [ 250 | 350 | 19 6 | 106
20 15 160L 3 318 | 250|549 | 18 | 300 | 250 | 350 | 19 6 | 130
1 - 90L 1 196 | 1551281 (10| 200 | 130 | 230 (125 (10| 24
2 - 90L 1 196 | 160|325 (10| 200 | 130 | 230 (125 10| 30
3 - 112M 1 228 | 175334 | 11| 225 | 180 | 250 |12.5| 10 | 43

i LMARLEESHDRAEER MM CRYAEEATIMmM
QLULBEEERE  BASTEM -

16




TE SE R Hj !m AV _‘ EE BS L Low voltage vertical motors

NI & | F,

= o
Q .: @;— (EEZD- . }{,

=i ol

LA

BE{i unit: mm
4p/| 6P /| 1ESE | 4% B % Axile Dimension [F&
HP| / HP| Frame | Phase ACTAD L LATM NP ST D|E|ED| F G | GA | Kg
12| 14| 71 3 | 157 | 130|273(11.5(130(110|158| 10 ({3.5|14|30(25| 5| 11 | 16| 13
1| 1/2| 80 3 | 175|136|276(11.5|165(130|200| 12 (3.5 19|40 30| 6 | 15.5|21.5| 17
2 1 90L 3 | 196 |149|336(11.5|165(130({200| 12 (3.5{24 |50 (40| 8 | 20 | 27 | 23
3 2 | 100L 3 [ 219|157|366|14.5|215|180|248| 15| 4 |28|60|40| 8 | 24 | 31| 35
5| 3 (112M | 3 | 228 (163|379 13 |215/180(250{ 15| 5 [28|60|40| 8 | 24 | 31 | 38
75| 5 | 132S 3 | 268 |193|419( 16 |265(230|300| 15| 4 |38|80(60|10| 33 | 41| 62
10 (75| 132M | 3 |[268|191|453| 16 |265(230|300| 15| 4 |38|80(60|10| 33 | 41| 71
15| 10 | 160M [ 3 [ 318 |250|611| 19 |300{250({350| 19| 5 |42|110/80 (12| 37 | 45 | 106
20 | 15 | 160L | 3 | 318 | 250|655| 19 [300{250|350( 19| 5 | 42110{ 80| 12| 37 | 45130
12| - 80 1 | 177 (139(310| 11 |130/110{160|{ 12|3.5(14|30|30| 5 | 11.5|16.5| 17
1 - 90L 1 | 196 [156(355|11.5|165/130(200|{ 12|3.5({24|50|40( 8 | 20 | 27 | 23
2 - 90L 1 | 196 |156(385|11.5|165/130(200| 12|3.5(24|50|40( 8 | 20 | 27 | 30
3 - | 112M | 1 | 228 | 174|423| 13 (215[180|250{ 15| 5 |28|60|40| 8 | 24 | 31| 43

i EEE& %;EJ:EE HAW Hydraulic horizontal motor aluminum housing

- -

x /"_;_ B c
'O |~ B8 847 uni
=] B unit: mm
E5 H 7
w/Jop /TR T T ol acl o les] clulenl ol el o PR
HP| /HP|Frame |Phase Ke

1/2| 90 3 140 30 166 | 192 | 100 | 125 15 90 | 8 225 | 10 | 15| 194 | 13

N | =

1 90 3 140 30 166 | 192 | 125 | 150 15 90 | 8 225 | 10 | 15 | 224 | 18

3 2 90 3 140 30 166 192 125 150 15 90 | 8 225 | 10 | 15 | 254 | 21

R lERLEESHDRAEEAES MM CRTAEZEEATIMmM -
QU LEEEEERE » BABITEA -

17




;m E EA ﬂ E ﬁ ?I! E E H SWG Hydraulic motor long coupling horizontal type
L . AC o

[ = - . rAD

~E_EC] =
ED F
L] = | -
&

d= | =iT e

I S

o — —— b |
K D I /
L BB L. ol BE unit: mm
4P 6P 1E5% | HEEX & % Axile Dimension
A [AA|AB|(AC|AD| B |BB| C | H|HA|[HD| K| L Kg
HP HP [Frame|Phase D|E|EC|ED| F| G |GA

1 1/2 80 3 |125| 35 |155/174|140|100|130|45.51 80 | 10 |172| 10 |300] 19|30 (41| 30 | 6 |15.5(21.5| 17
2 1 90L 3 |[140) 40 [172]|195|145|125|156| 56 | 90 | 10 | 193| 12 |368| 24 (50|44 | 40 | 8 [ 20 | 27 | 23
3 2 112S| 3 |[190| 47 |226|235(169]|140|170| 54 |112| 12 |263| 12 |367|28 40|48 40 | 8 | 24| 31| 35
5 3 112M| 3 |190| 46 |228]|235(170|140|177| 66 |112| 13 |263| 12 |391| 28 |40 |48 | 40 | 8 | 24| 31 | 40
7.5 5 132S 3 |216] 50 | 259(271|191| 140(175| 74 | 132| 14 |308| 12 | 45538 |52 |62| 50 [ 10| 33| 41| 63
10 7.5 132M| 3 |216| 50 (249|271|191|178|213| 72 |132| 14 |308| 12 |489| 38|52 (62| 50 | 10| 33| 41| 70
15 10 160M| 3 |254| 50 | 300|344|256(210(250| 94 |160| 18 |374| 15 |625| 42|60 | 79| 55 | 12| 37| 45]128
20 15 160L | 3 |254| 50 |300|344|256|254|300| 94 |160| 18 [374| 15 [668]| 42 | 60 | 79| 55 | 12 | 37 | 45 | 147
25| 30 20 180M| 3 |279] 75 |356|390|303|241|300|132|180| 24 [419| 15 (74348 | 70|93 | 55 | 14 |42.5| 52 %ﬁg/
40 25| 30 | 180L 3 |279| 80 |356|390]|300)279|330|132]|180| 20 |419| 15 |781| 55| 70|93 | 55 | 16| 49 | 59 | 255

| EEEEE‘EE?&EE HSLG Hydraulic motor long coupling vertical type

£Q
. ﬂ@
BE{i unit: mm
4P /|6P /| 1ESR LiEE & U Axile Dimension

HP| /HP| Frame Phase AD M P > . D ED F G GA K8
1 |1/2 80 3 135 165 200 8.5 320 19 34 6 15.5 215 | 23
2 1 90L 3 149 165 200 8.5 370 24 34 8 20 27 28
3 2 100 3 156 215 250 8.5 411 28 45 8 24 31 35
5 3 | 112M 3 163 215 250 8.5 424 28 45 8 24 31 46
75| 5 | 132S 3 193 265 300 12 491 38 72 10 33 41 75
10 (71/2| 132M 3 191 265 300 12 525 38 72 10 33 41 85
15 | 10 | 160M 3 250 300 350 14 689 42 78 12 37 45 (140
20 | 15 | 1e0L 3 250 300 350 14 733 42 78 12 37 45 | 165

i LMARLEESHDRAEER MM CRYAEEATIMmM
QLULBEEERE  BASTEM -

18




EEEEE:HIEELEE HSUG Hydraulic motor long coupling horizontal type

- L -—
= EEC
& ED
il = =y AU}
K—_ B _c
8 1 li i
BRI unit: mm
4P /| 6P ESE | ABEK & % Axile Dimension BE
A|AA|[AB|AC| B [BB| C | H|HA|HD| K| L
HP|/HP| Frame |Phase D [E|EC|ED[(F| G | GA | Kg
1 |12 80 3 |125( 38 |159|175[100|132| 45.5| 80 | 10 [223|10{300| 19 |30| 41| 30| 6 | 155 21.5| 17
2 1 | 9oL | 3 |[140| 39 |176|196|125|152| 56 | 90 | 12 [236|12|368| 24 |50| 44| 40| 8| 20 | 27 | 23
3 2 | 1125 | 3 [190| 46 |226(228|140|168| 54 |112| 14 [275|12|367| 28 40| 48| 40| 8| 24 | 31 | 35
75| 5 | 132 | 3 |216| 50 [259|268|140|175| 74 [132| 16 |321|12(455| 38 |52| 62| 50 | 10| 33 | 41 | 63
10 [ 71/2| 132M | 3 |216]| 50 | 256 268| 140|213 | 89 |132| 13 [323|12|485| 38 | 52| 62| 50| 10| 33 | 41 | 70
Y = =n H
| FEE H!EJ:EE HSU Hydraulic drive motor horizontal
AC
=) (=)
o
E
A () ) %
LY
' AB e
BE{iI unit: mm
4P /| 6P NE5R | ABEK HE
A|A|AB|AC| B |BB| C | H|[HD|HA|K | L
HP| “HP | Frame | Phase Kg
1 1/2 80 3 [125)| 38 [159|175|100 (132|535 80 | 223 10 |10 |237| 16
2 1 90L 3 |140| 39 (176|196 (125|152 52 | 90 |236| 12 |12 (270 | 24
3 2 100L 3 |160| 41 (197|222(140|177| 65 |100|262|13.5|12 (305| 32
5 3 112M 3 |190| 46 (2321235(140|169 | 57.5| 112|278 | 15 |12 (300 | 39
7.5 5 132S 3 |216| 50 | 259(268 | 140|175 77 |132(323| 16 [12|345| 60
10 7.5 | 132M 3 |216| 50 | 256|270 | 140|213 | 92 |132(323| 13 (12| 374| 70

Tl ERLEZEEHDAEZEEA TS MM CRYRAEEATImm o
QU LEEEEERE » BABITEA -

19




EEE F %EEAEEE HTW Hydraulic drive motor steel horizontal type

BEI unit: mm

L b s A |AB| AC| AD| B BB | C H|HD| K [KW]| L B EEEL
HP|Phase| pump |Frame Kg
1/4]1 3 | TK/NOP | 63 | 100 | 130 |@129| 112 | 80 | 102 |51.5| 62 | 132 8 | 20 | 207 X
1/4 | 3 1A/PA 71 | 112 | 150 |@142| 128 [ 90 | 112 |53.5| 70 [ 146 | 9 25 | 217 180
12| 3 1A/PA 71 | 112 | 150 |@142| 128 | 90 | 112 |535| 70 [ 146 | 9 25 | 217 10 180
12| 3 15L/54> | 80 | 125 | 156 (@156| 135 | 75 | 94 |62.5( 77 | 160 | 9 | 25 | 228 | 10 X
3 1A/PA 71 | 125 | 150 |@142| 128 | 75 [ 112 |63.5| 70 [146| 9 | 20 (232 | 10 | 196
3 15L/54 | 80 | 125 | 156 (@156| 135 | 75 | 94 |62.5( 77 | 160 | 9 | 25 | 228 | 10 X
3 1A/PA 90 | 140 | 180 |@177| 143 | 100 | 130 (69.5| 89 [ 183 | 10 | 25 | 276 | 17 | 254
3 1A/PA 90 | 140 | 180 |@177| 149 | 100 | 130 [ 79.5| 89 [ 183 | 10 | 25 [ 296 | 23 | 274
121 1 1A/PA 80 | 125 | 156 |@156( 135 | 75 | 94 |64.5| 77 [160| 9 | 25 (243 | 11 | 214
1 1 1A/PA 90 | 140 | 180 |@177| 149 | 100 | 130 (69.5| 89 [ 183 | 10 | 25 [ 276 | 19 | 254
2 1 1A/PA 90 | 140 | 180 |@177| 149 | 100 | 130 | 79.5| 89 [ 183 | 10 | 25 [ 296 | 23 | 274

I EEE ¥ %ﬁﬂﬂEE HTL Hydraulic drive motor steel vertical type

e —

ol =z <Q
-1 —l / l
LA | B3 unit: mm
4p E5% ’ e
L e AC AD L LA M N P S T ot HEEL

HP|Phase[ Frame Kg

1 3 71 142 123 | 217 12 150 - 165 | ©85 - 10 182
2 3 90 177 | 140 | 278 g 212 | 180 | 2355 | @11 | 12 17 257
3 3 90 177 | 144 | 298 9 212 | 180 | 2355 | @11 | 12 21 277
1 1 90 177 144 | 278 9 212 180 | 2355 | @11 12 19 257
2 1 90 177 | 144 | 298 9 212 | 180 | 2355 | @11 | 12 23 277

i LIEARLEBASHDAEZEEAESMm CRYAEEREImMme

20

QULBEEERE  BASTEM -




ik

mﬂ '! %ﬁEE HTD Submerge oil motor

L ) 2
(. B Lle
sl B unit: mm
ol & AHE HESRR A AB AC B BB C H HD | K| KW L a4
HP| “HP| Phase | Frame Kg
1 - 3 90 140 | 180 164 | 100 {130 1425 | 8 | 171 (10| 25 219 15
2 1 3 90 140 | 180 164 | 100 [130 |1 425 | 89 | 171 (10| 25 219 18
3 2 3 100 190 | 226 185 | 140 [168 | 325 | 108 | 201 (12| 25 205 20
5 3 3 100 190 | 226 | 185 | 140 |168 | 32.5 | 108 | 201 | 12| 25 | 205 22
7.5 5 3 100 190 | 226 | 185 | 140 (168 | 52.5 | 108 | 201 (12| 25 249 27
10 | 7.5 3 100 190 | 226 | 185 | 140 (168 | 62.5 | 108 | 201 (12| 25 | 265 33

| Eﬁiﬂﬂﬂ%’z‘ﬁﬁ HSD Submerge oil motor

(@)
E‘E
B3 unit: mm

4P 6P MEEL | AEEE |, AB | Ac | B |BB]| C H lHo |k | L BB

HP| ~HP| Phase | Frame Kg

15 10 3 160 | 195 | 229 | 283 | 190 [244| 60 | 160 | 302 |15 | 313 | 63

20 15 3 160 | 195 [ 229 | 283 | 190 [244| 60 | 160 | 302 | 15| 313 | 68

I E;g‘ﬂ aiﬁEERDM Reverse osmosis pump drive motor
fﬁ%ﬁ! PR A

B{i unit: mm

&7 HESE | AREK A AB | AC | AD B [BB| C H | HD | K| KW L i st
HP [Frame| Phase Kg

1/2 | 71 1 112 | 150 ) 142 [ 132 ] 90 [ 112|495 [ 70 | 146 | 9| 25 | 282 11 A

1 71 3 112 | 150 | 142 | 132 | 90 | 112 495 | 70 | 146 [ 9| 25 | 282 10 A
1 90 1 140 | 180 ) 177 [ 149 100|130 | 69.5 [ 89 | 182 10| 25 | 345 19 R E
1 90 3 140 | 180 | 177 | 149 100 | 130 | 69.5 | 89 | 182 [10| 25 | 345 12 A
1/2 | 80 1 110 | 160 | 144 | 135| 70 | 100 | 77.5 | 77 | 149 9| 25| 228 11 RIRE
1 80 3 110 ) 160 144 | 135] 70 | 100 77.5| 77 ]| 149] 9] 25| 228 10 RigE
i LMARLEESHDRAEER MM CRYAEEATIMmM
QLULBEEERE  BASTEM -

21




|E3E$“=“Hﬂ!ﬂﬂﬂ§i¥ BEW Low voltage horizontal motors

BE{if unit: mm

4P | 6P ER | ER A|AM|AB|AC|AD| B |[BB|{C | H|[HA|HD|[ K| L "M % AxleDimension
Frame Size| Phase D|E|ED|F| G GA
1 1/2 80 3 | 125| 37 | 158|179 | 139|100 |132| 50| 80 | 11|173| 10| 277|19(40| 30| 6 | 155 | 21.5
2 1 90L 3 | 140 40 | 172 195 | 146| 125|156 | 56| 90 [ 10| 193 | 12 (324 |24 (50| 40| 8 | 20 | 27
3 2 100L 3 |160| 41 | 197 | 224|162 140|177 |63 (100 13 (245| 12| 362 | 28| 60| 40| 8| 24 | 31
5 3 112M 3 |190| 45| 224 | 237|165 140 | 175| 70 112| 14 [ 263 | 12| 388 | 28| 60| 40| 8 | 24 | 31
7.5 5 1328 3 |216| 50 | 250 | 275 217 140 | 175| 89| 132| 15| 308 | 12| 450 | 38| 80| 60 | 10| 33 | 41
10 | 7.5 132M 3 |216| 50 | 253 | 275 ( 217 178 | 213 | 89 | 132 15| 308 | 12| 489 | 38| 80| 60| 10| 33 | 41
15 10 | 160M 3 | 254 | 50 | 300 | 344 | 256 | 210 | 250 |108| 160 | 18 | 374 | 15| 610 | 42 (110 80 [ 12| 37 | 45
20 15 160L 3 | 254 | 50 | 300 [ 344 | 256 | 254 | 300 |108| 160 | 18 | 374 | 15 | 654 | 42 (110 80 [ 12| 37 | 45

i |E3E$ﬂﬂjimﬂﬂ5i¥ BSL Low voltage v
L

AD

ertical motors

%
' LA
B unit: mm
HESR GiEE 2 B 3% Axile Dimension

4P Frame Size ohase AC AD L LA M N P S T 5 e - F G A
1 80 3 175 | 136 | 276 | 11.5| 165 | 130 | 200 12 35 19 40 30 6 155 | 215
2 90L 3 196 | 149 | 336 | 11.5| 165 | 130 | 200 12 3.5 24 50 40 8 20 27
3 100L 3 219 | 157 | 366 | 145 | 215 | 180 | 248 15 4 28 60 40 8 24 31
5 112M 3 228 | 167 | 408 13 215 | 180 | 250 15 5 28 60 40 8 24 31
7.5 132S 3 268 | 191 | 453 16 265 | 230 | 300 15 4 38 80 60 10 33 41
10 132M 3 268 | 217 | 489 16 265 | 230 | 300 15 4 38 80 60 10 33 41
15 160M 3 318 | 250 | 611 19 300 | 250 | 350 19 5 42 110 80 12 37 45
20 160L 3 318 | 250 | 655 19 300 | 250 | 350 19 5 42 110 80 12 37 45

it LARLEES

22

HDRZEEAESMm ' CRIAEEZAEImm o
QU LEEEEERE » BABITEA -




|E3;BE

ﬁiﬂﬂEE HSW Hydraulic drive motor horizontal type

I
B
oat] |
\f
— ? : - —

e B Gl

BB BEQI unit: mm
E 38 | =
4P 6P A AA AB AC AD B BB C H HA HD K L
Frame Size | Phase

1 1/2 80 3 125 35 155 174 140 100 130 | 535 80 10 173 10 240
2 1 90L 3 140 40 172 | 195 | 146 | 125 | 156 52 90 10 193 12 270
3 2 100L 3 160 41 197 224 162 140 177 65 100 13 245 12 305
5 3 112M 3 190 45 224 237 165 140 175 | 735 | 112 14 263 12 331
7.5 5 132S 3 216 50 250 | 274 218 140 175 92 132 15 308 12 375
10 1.5 132M 3 216 50 253 275 217 178 213 92 132 15 308 12 412
15 10 160M 3 254 50 300 | 344 | 256 | 210 | 250 | 86.5 | 160 18 374 15 480
20 15 160L 3 254 50 300 | 344 | 256 | 254 | 300 | 86.5 | 160 18 374 15 525

| IE3;BJEE

%ﬁEﬂEE HSL Hydraulic motor vertical type

L
V1T o : ir—— %
Q z%u_
! 1| A,
i N
© b o
LA i T
L BRI unit: mm
HESR L
4p AC AD L LA M N P S T
Frame Size Phase
1 80 3 177 140 256 10 180 130 206 12 12
2 90L 3 196 150 275 10 200 130 230 12.5 10
3 112M 3 228 165 290 11 225 180 250 125 10
5 112M 3 228 167 320 11 225 180 250 12.5 10
75 132S 3 268 195 380 14 265 230 300 15 5
10 132M 3 268 217 414 14 265 230 300 15 5
15 160M 3 318 250 505 18 300 250 350 19 6
20 160L 3 318 250 549 18 300 250 350 19 6

i LIEARLEBASHDAEZEEA TS CRYAEEREImMme

QLULBEEERE  BASTEM -

23




IE3§EEEAE‘EE:’|EEE HSWG Hydraulic motor long coupling horizontal type

im m
1=

11 ==
o —1 L b |
3" }
K—1l._8__ic ]
BB oe /1 .
a = B unit: mm
1E % | HEEK # % Axile Dimension
4P | 6P Frame A AA| AB| AC| AD| B BB | C H HA| HD| K L
ame | phase D| E|EC|ED| F| G |GA

1 (1/2| 80 3 | 125| 35 | 155| 174 | 140| 100 130| 45.5( 80 | 10 (172| 10 [ 300| 19 ( 30 | 41| 30 | 6 |[155]|215

2 |1 90L 3 | 140| 40 | 172| 195| 145| 125| 156 56 ( 90 [ 10 [193| 12 | 368| 24 | 50 | 44 | 40 | 8 | 20 | 27

3|2 | 112M | 3 | 190| 46 | 228| 235| 170| 140| 177| 66 | 112| 13 [ 263 | 12 | 391 28 | 40 | 48 | 40 | 8 | 24| 31

53| 112m | 3 | 190| 47 | 224| 235| 173| 140( 201| 91 | 112| 13 (263 | 12 | 441| 28 | 40 | 48| 40| 8 | 24| 31

75| 5 132S | 3 | 216| 50 | 253| 274 | 217| 140( 213| 89 | 132| 15| 308 | 12 | 485| 38 | 52 ( 62 | 50 | 10 | 33| 41

10| 7.5( 132M | 3 [ 216| 50 | 253| 274| 215| 178| 213| 89 | 132| 15| 308 | 12 | 523| 38 | 52 | 62 | 50 | 10 | 33 | 41

15| 10| 160M | 3 | 254| 50 | 300| 344| 256| 210 250 94 | 160| 18 | 374 | 15| 625| 42 | 60 [ 79| 55| 12| 37| 45

20 (15| 160L | 3 | 254 50 | 300| 344| 256 | 254| 300| 94 | 160 18 {374 | 15 | 668| 42 | 60 | 79 | 55 | 12 | 37 | 45

| |E3§EEEE‘EH§¥EE HSLG Hydraulic motor long coupling vertical type

£D
. ; ﬂg
BE{i unit: mm

HESR | AEEX & iF Axile Dimension
4P Frame AD M P S L

Size | Phase D ED F G GA
1 80 3 135 165 200 8.5 320 19 34 6 15.5 21.5
2 90L 3 149 165 200 8.5 370 24 34 8 20 27
3 100 3 156 215 250 8.5 411 28 45 8 24 31
5 112M 3 167 215 250 8.5 454 28 45 8 24 31
7.5 1328 3 191 265 300 12 525 38 72 10 33 41
10 132M 3 217 265 300 12 559 38 72 10 33 41
15 160M 3 250 300 350 14 689 42 78 12 37 45
20 160L 3 250 300 350 14 733 42 78 12 37 45

i LMARLEESHDRAEER MM CRYAEEATIMmM
QLULBEEERE  BASTEM -

24




|E3§EE£ %gELEE HAW Hydraulic horizon

AC

tal motor aluminum housing

FIGURE1

FIGURE2
B unit: mm

E SR | | BR
4P A AA AB AC B BB C H HD HA K KW L
Frame Size| Phase [Drawings

1 90S 3 1 140 30 166 | 192 | 125 | 150 15 90 225 10 15 224
2 90L 3 1 140 30 166 | 192 | 125 | 150 | 15 90 225 10 15 254
3 100L 3 1 160 40 195 | 219 | 140 | 200 65 100 | 247 10 12 299
5 100L 3 1 160 | 40 195 | 219 | 140 | 230 73 100 | 247 10 12 329
71/2| 132S 3 2 216 50 266 | 235 | 140 | 185 | 945 | 132 | 325 19 12 16 358
10 160M 3 2 216 60 | 314 | 275 | 178 | 260 76 160 | 370 18 12 415

| |E3§EEﬂ§§ELEE HSU Hydraulic drive motor horizontal

JL

 —

—" |_ B -.—-C-

(% BB | BEif unit: mm
4p ERE il A AA AB AC B BB C H HD HA K L

Frame Size Phase

1 80 3 125 38 159 | 175 | 100 | 132 | 535 80 223 10 10 237
2 90L 3 140 39 176 | 196 | 125 | 152 52 90 236 12 12 270
3 100L 3 160 41 197 | 222 | 140 | 177 65 100 | 262 | 135 12 305
5 112M 3 190 48 227 | 238 | 140 | 176 | 73.5 | 112 | 285 13 12 332

71/2 132S 3 216 50 256 | 270 | 140 | 213 92 132 | 323 13 12 374
10 132M 3 216 50 256 | 270 | 178 | 213 92 132 | 323 13 12 412

QLULBEEERE  BASTEM -

Tl ERLEZEEHDAEZEEA TS MM CRYRAEEATImm o

25






